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101|R#A7 L 716 170 546| Kg |EE 1,188 216| 1,944 270
102|357 L 1,136 1,136| Kg BIE 1,593 555
111|&EEF £ 118 118 Kg =40 1,944 648
113|RAV S 35 30| Kg |EI 863 540| & 2,484 756
114|B5EFE 124 117| Kg |BRS 1,296 e 2,970 1,080
15[ 1= 7 6| Keg |EE 2,700 1,080| £ 3,024 1,296
117[1E 577 240 337 Kg |EE 1,296 216| 3,996 540
121|rblE &€ 55 5 50 Kg |EE 864 108| )& 864
134[#= = 438 200 238| Kg |EE 2,400 1,400| & 2,484 1,620
140(5 I 66 66| Kg EfE 36,720 1,296
147|E2 O 50 50| Kg i 13,500 6,000
168|BIEH AL H 151 151| Kg BR 2,484 864
201|{Lb L 699 699| Kg R - T 432 126
203|/hé L 133 133| Kg B1R 432 243
205|585 L 466 466| Kg £4f 900 540
206| = 1F 680 5 675 Kg |EE 486 = 562 259
208| Mo % 510 510| Kg T 2,376 452
2094 B & L 175 50 125 Kg | 540 1 972 864
210|1F ALy 388 292 96| Kg |EI 4,320 945| Rl 2,295 1,485
212|&FE3 Y 218 218| Kg =4 3,035 1,728
251|< B %<3 447 447 Kg |Ri& 1,793 1,080
254|E b ECH 369 369| Kg =] 1,998 1,166
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303[A 27z 10 10| Kg FE 900 463
319|2h o 543 31 512 Kg |AJ 1,296 864 | - A 1,296 918
332|= 13 WA =EF 208 19 189 Kg & 1,080 2Pl 2,052 1,620
3bl{HHV 35 35 Kg w5 21,600 2,484
35411FxE<Y 68 68| Kg I 1,836 864
355(mp Y 148 148 Kg H[E 2,376 600
356(L L& 45 45| Kg SER 1,512 432
357|7RE 1 1 Kg FEE 10,800 10,260
358|KE 10 10| Kg FAN 4,536

362| & 25 25 Kg Jtime 9,288 864
401|H W 58 58| Kg Iz & 2,052 1,620
4025 5 &E 5 5] Kg [ 5,508
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507|@— L Ly 10 10| Kg =] 1,080
5124 A L 120 120| Kg b 1,550 1,404
523|AEAAT 2 O 885 885| Kg Bh 4,260 1,500
54| AEE E XV 226 226| Kg =] 2,268 1,180
558| 180 180 Kg b 1,296 842
560|487 2 313 313| Kg R - A 3,996 1,250
566|4R A < 4 4l Kg b 1,313
57648 & 1F 160 160 Kg JeimE - A 1,836 1,250
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701BbY DA 2,159 760 1,399 Keg |&E 4,689 3,865 (B 4,590 1,233
704\ LETF 7 7 Kg &l 2,376
709|Lvbh LALF 45 45 Kg FE 945
710|5 2 HATF 91 91| Kg =y 972 151
755(FH L 19 19 Kg EHE 1,274 1,044
76l b BHAZELE 17 17 Kg = 3,115 2,520
801|BHL =T 144 744 Kg bFE - EA 1,728 1,250
802 1 80 80| Kg 2Dzl 1,836 1,404
805|E = 1X 994 994 Kg JbiF 1,231 594
810|BAKTF 344 344 Kg B =2 2,700 1,674
815|—WEAE 261 261 Kg bEE 1,008 648
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